AT&T Midwest Regional Remedy Plan

ATTACHMENT B


PROVISIONS FOR

POTENTIAL ASSESSMENTS PAYABLE TO
THE STATE OF MICHIGAN
This Attachment B to the AT&T Midwest Performance Remedy Plan contains provisions for the application of assessments payable to the State of Michigan (commonly termed “Tier 2 payments”).  Such assessments were part of the first Performance Remedy Plan submitted by AT&T Michigan in this case in late 2000 and approved by the Michigan Public Service Commission (“MPSC” or “Commission”) in 2001.  In the 2006-2007 Six-Month Review Collaborative, CLECs and AT&T Michigan agreed to the AT&T Midwest Performance Remedy Plan (“the Plan”), which eliminated Tier 2 payments.  However, upon review by the MPSC, AT&T agreed to retain the potential obligation for future Tier 2 payments under the terms and conditions to be approved by the Commission following the contested case proceeding referenced in Section 2.0 below and as further set forth herein.  This Attachment preserves the structure forthe potential application of such payments in the future.
There shall be no obligation to pay Tier 2 payments prior to the expiration date of the liquidated damages obligations as specified in the Plan.   After that time the Commission may reinstitute the obligation for Tier 2 payments after a contested case proceeding, if based upon AT&T’s performance, such payments are deemed necessary by the Commission.  
In such proceeding, if a determination is made that Tier 2 payments should be reintroduced, the Commission shall, based upon the recommendation of the Parties to such case, determine the appropriate Tier 2 dollar amounts and to which performance measurements those payments shall apply.
Tier 2 Payment Structure
1.1 The same statistical processes for determination of parity of performance between AT&T Michigan, its affiliates and CLECs as defined in Sections 2.0, 3.0 and 4.0 of the Plan apply, with the following additional criteria unique to Tier 2. 
1.2 The minimum sample size for Tier 2 is 10 observations for the aggregate of all CLECs.  Sub-measures in Tier 2 with fewer than 10 observations shall not have statistical test conducted on them, and shall not be subject to assessments.
1.3 Assessments will be applicable only to those measures identified as subject to Tier 2 assessments in the then-current Performance Measurement User Guide consistent with Sections 5.0 and 8.1 of the Plan.
1.4 Assessments, where due, shall be paid on the aggregate performance of all CLECs operating in Michigan, consistent with Section 5.0 of the Plan.
1.5 Attachment A of the Plan shall apply to the Tier 2 obligation in the same manner as it applies to Tier 1.
1.6 Section 8.11 of Plan shall apply to any obligation to pay Tier 2 assessments.

1.7 The following Tier 2 assessment amounts apply.

	Table 1: Assessment Amounts for Tier 2 Measures

	Per Occurrence
	$0

	Per Measure/Per Occurrence with a Cap
	$0


1.8 Where Tier 2 assessments are required for measurements where a per occurrence assessment applies, an assessment as specified in Table 1: Assessment Amounts for Tier 2 Measures shown above for each occurrence is payable to the Michigan State Treasury for each sub-measure that exceeds the Critical Z-value for three consecutive months.  For those measurements subject to per occurrence with a cap, an assessment as shown in Table 1: Assessment Amounts for Tier 2 Measures shown above for each occurrence within the applicable cap is payable to the Michigan State Treasury for each sub-measure that exceeds the Critical Z-value for three consecutive months.  For those Tier 2 measurements subject to a per measurement assessment, an assessment amount as shown in Table 1: Assessment Amounts for Tier 2 Measures shown above is payable to the Michigan State Treasury for each sub-measure that exceeds the Critical Z-value for three consecutive months. 

The following terms and conditions shall also apply to the Tier 2 obligation : 

1.9 CLEC may not use AT&T Michigan’ payment of any Tier 2 assessments as evidence AT&T Michigan has discriminated in the provision of any facilities or services under Sections 251 or 252, or has violated any state or federal law or regulation consistent with Section 6.2 of the Plan.
1.10 AT&T Michigan shall not be liable for Tier 2 assessments under this remedy plan to the extent they are duplicative of any other assessments or sanctions under the Commission’s service quality rules relating to the same performance.  This section does not limit the Commission’s ability to assess remedies, penalties or fines regarding such performance consistent with its lawful authority consistent with Section 6.0 of the Plan.
1.11 AT&T Michigan shall have the same rights with regard to waiver of liability set forth in Section 7.1, 7.2 and 7.3 of the Plan. However, should AT&T Michigan initiate a waiver of liability proceeding as described in such Sections, AT&T Michigan shall be allowed to withhold payment of any Tier 2 assessments until after the issuance of a final non-appealable decision.
1.12 The terms of Section 9.3 of the Plan shall apply to Tier 2 payment obligations. 
Performance results on Tier 2 payment obligations will be generated for the aggregate of all CLECs in Michigan as follows:
1.13 Determine the Tier 2 measurement results that are non-compliant for three consecutive months for the aggregate of all CLECs.  If the non-compliant classification continues for three consecutive months, an additional assessment will apply in the third month and in each succeeding month as calculated below, until AT&T Michigan reports performance that meets the applicable criterion.  That is, Tier 2 assessments will apply on a “rolling three month” basis, one assessment for the average number of occurrences for months 1-3, one assessment for the average number of occurrences for months 2-4, one assessment for the average number of occurrences for months 3-5, and so forth, until satisfactory performance is established.

1.13.1 Measures for Which the Reporting Dimensions are Averages or Means

Step 1:
Calculate the average or the mean for the sub-measure for the CLECs that would yield the Critical Z-value for each of the three non-compliant months. Use the same denominator as the one used in calculating the Z-statistic for the sub-measure.  (There are no Critical Z-values calculated for Benchmark measures.)

Step 2:
Calculate the percentage difference between the actual average and the calculated average for each of the three non-compliant months.  For benchmark measures, calculate the percentage difference between the actual average and the benchmark for each of the three non-compliant months.  This percentage is capped at 100%.

Step 3:
Multiply the total number of data points for each month by the percentage calculated in the previous step.  Calculate the average for three months of these numbers rounding up the result to the next highest integer.  Then multiply the result by the per occurrence dollar amount specified in the Assessment Table for Tier 2 Measures to determine the applicable assessment payable to the Michigan State Treasury for that sub-measure.

1.13.2 Measures for Which the Reporting Dimensions are Percentages

Step 1:
Calculate the percentage for the sub-measure for the CLECs that would yield the Critical Z-value for each of the three non-compliant months.  Use the same denominator as the one used in calculating the Z-statistic for the sub-measure.  (There are no Critical Z-values calculated for Benchmark measures.)

Step 2:
Calculate the difference between the actual percentage for the CLECs and the calculated percentage for each of the three non-compliant months.  For benchmark measures, calculate the difference between the actual percentage and the benchmark for the three non-compliant months.

Step 3:
Multiply the total number of data points for each month by the difference in percentage calculated in the previous step.  Calculate the average for three months of these numbers rounding up the result to the next highest integer.  Then multiply the result by the per occurrence dollar amount specified in the Assessment Table for Tier 2 Measures to determine the applicable assessment payable to the Michigan State Treasury for that sub-measure.

1.13.3 Measures for Which the Reporting Dimensions are Ratios or Rates

Step 1:
Calculate the ratio for the sub-measure for the CLECs that would yield the Critical Z-value for each of the three non-compliant months.  Use the same denominator as the one used in calculating the Z-statistic for the sub-measure.  (There are no Critical Z-values calculated for Benchmark measures.)

Step 2:
Calculate the difference between the actual ratio for the CLECs and the calculated ratio for each month of the non-compliant three-month period.  For benchmark measures calculate the difference between the actual ratio and the benchmark for the three non-compliant months.  This difference is capped at 100%.

Step 3:
Multiply the total number of service orders by the percentage calculated in the previous step for each month.  Calculate the average for three months of these numbers rounding up the result to the next highest integer.  Then multiply the result by the per occurrence dollar amount specified in the Assessment Table for Tier 2 Measures to determine the applicable assessment payable to the Michigan State Treasury for that sub-measure.
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